O

0 N~ O IO T O N

2014
1 O

8

N~

)4
£ s
T

-l O/A/ //w@ &Q/ //h = /
%@e///x 7// /o&g o) > v

7
// //

. %

'y 1

/ /

/, s
2/35
é/
/

ChessBase 10 Ausdruck, Husi , 24.08.2014

| | Westerinen,H
B Pattaggia,P

QY //// A \\ NN
M//./—/E/ ////WA@I_/// é/ - - % % //gg %
o] o < ° @%%/.M& -
] /%M/ = 5 v ////%/ //%/ ///wﬁ
/ ///8/ /c 5., 2 olml<d
- ] SR &8 o\ S
/x/g/ &) t8yg o 80 e <0
S S
(@)) o
— AN Q-
o
N
(¢D}
[ (7))
2 5
S -
N o S N
g & 8 E
o 9 a %
— T B - = £
2) z g <= a 2
= ) c o n < =
S = o ER-E Q
|8 //// ////// SEF SEwc =
ga a__-___..- / /&@wga oSk 2032 3
th_W_ © ~ © I <+ ™ N -~ WaMHM D.mm .m

1.Td8+ Txd8 2.Lc6+ Ke7 3.c8D+

Was sollte Weil3 am Zuge nun
1-0

machen?

g5
[ 1...Kf7 2.Dg6+ Kg8 3.Dxg7#]

2.Sxh6+

[1..Df7 2.Sxh6++- ]
1-0

[ 1..Tf7 2.Sxh6++- ]

1.Dg4!
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| Brauer,Ann-Kathrin
B Kornfeld,Felix
Werther K+J (4)
[Husemann,D]
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| ] Nwachukwu
B Jameson

Gibraltar
[Husemann,D]
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1..Dhl1+ 2.5gl1 Sd2+ 3.Txd2 Dxgl+!

Wie sollte Schwarz am Zuge
4. Kxgl Tel#

fortfahren?
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Sf6 5.d3 Lg4 6.Le2 Lxe2 7.Sxe2 e6
8.0-0 Le7 9.Sf4 Ld6 10.Sc4 Lxf4
11.Lxf4 Sbd7 12.Sd6+ Ke7 13.Sc4

1l.e4 d5 2.Sc3 d4 3.Sb5 c6 4.Sa3
Te8

Weil3 am Zuge.

[ 3.Kh3 Sxg5+ 4.Kg3 Df8!]
3...Df8! 4.Ld2 Tg2+! 5.Kxg2 Df2+

6.Kh3 Dg3#

Wie kommt Schwarz am Zuge in
0-1

Vorteil?
1..Tg5+! 2.fxg5 Tf2+ 3.Kgl
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14.Ld6#
1-0



